>
O:;

— 57

LOCTITE 24

640 LC4 -Six Days '99 <1999><EU><972692>
INSTRUMENTS / LOCK SYSTEM

Pos Part Number Description Additional Text Quantity
3 58411003100 * MASK BRACKET LC4 '98 1.00
5 54635036000 BUSHING 2.00
6 41001052000 RUBBER SLEEVE D=12MM 2.00
7 0021060003 Washer DIN9021-A 6.4 ONLY USA 2.00
8 0985060003 Self lock. nut DIN985-M6-A2 2.00
9 54603048100 clip nut M6 2.00
10 0014060103 HH COLLAR SCREW M 6X10 WS=8 1.00
11 0014060203 HH COLLAR SCREW M 6X20 WS=8 1.00
12 0014060253 HH COLLAR SCREW M 6X25 WS=8 1.00
14 0017060203 EJOT PT SCREW K60X20 WS=6 MXC, EXC 5.00

29098



25 49111425000 BULB 12V 1,2W (W2X4,6D) 5.00
52 58111052100 SPEEDOMETER DRIVE 748217(3,0) 1.00
52 58311052000 SPEEDOME.DRIVE 748208(2,66)'94 1.00
53 58111053100 DRIVING DOG F.SPEEDOM.DRIVE'92 1.00
55 58414055100 SPEEDOM.CABLE M12/M12 950MM' 1.00
57 58414057000 SPEEDOMETER NIPP.SEIKI KMH '98 400/640 LC4-E, SM 1.00
57 58414057100 SPEEDOMETER NIPP.SEIKI MPH '98 4GOBE)/64O LC4-E USA, LC4-E | 1.00
60 6899785 LOCTITE 243 BLUE 5 ML 1.00
66 58411066000 IGNITION LOCK W.LIGHTSWITCH 98 4 SWITCH POSITIONS 1.00
67 0985040123 FLAT HEAD SCREW DIN7985-M 4X12 2.00




